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1. 20162| A M= WH|2|AH XZ0i SH2 SEF2|AH 11,985,329,000% 1t HlSZEF 2|4 7,033,066,0008 2=
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Qe ARTE s=asz | us=a97 LS 7 24 20163 A¥ = | 20153 HHE ¢ SUE(%)
XA (A) (B) (C=A-B) (D=C/B)
sE5a3+Y 11,506,825 423,300 11,930,125 12,511,078 |- 580,953 46
MY |2E5+4 1 4,208,397 4,208,397 4,243,571 | - 35,174 0.8
mis 2 SN B - 665,359 665,359 657,680 7,679 1.2
imiE_ el 57,500 258,000 315,500 327,518 | - 12,018 3.7
M 2344 11,564,326 5,555,056 17,119,381 17,739,847 |- 620,466 -3.5
FRFRE7|EFRF A= - 350,004 350,004 150,003 200,001 133.3
A DY RpAROR 2= 1,003 5 1,008 9 999 11100.0
nESE - 1 1 5,000 |- 4,999 -100.0
H7|0|EXtg 420,000 1,128,000 1,548,000 1,976,108 |- 428,108 217
Kratbxf = Al 421,003 1,478,010 1,899,013 2,131,120 |- 232,107 -10.9
g A 11,985,329 7,033,066 19,018,394 19,870,967 |- 852,573 -4.3
B 6,694,626 288,268 6,982,894 7,081,192 | - 98,298 14
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XA (A) (B) (C=A-B) (D=C/B)
el S| 2,141,955 872,397 3,014,352 2,995,837 18,515 0.6
Atk ZH| 2,258,442 4,086,392 6,344,834 6,485,917 141,083 22
W2t & 50,000 19,000 69,000 87,500 18,500 -21.1
MEz 2 - 1 1 - 0.0
M Of| | H| 102,000 60,000 162,000 163,999 1,999 1.2
23XE A 11,247,025 5,326,057 16,573,081 16,814,446 241,365 -1.4
E  |FXLb7|EFR;A - 220,003 220,003 703,256 483,253 -68.7
RS YN SN} 717,503 359,005 1,076,508 1,132,323 55,815 -4.9
HER - 1 1 5,000 4,999 -100.0
Xp7|0| & Xtg 20,801 1,128,000 1,148,801 1,215,942 67,141 5.5
X8l X|1E Al 738,304 1,707,009 2,445,313 3,056,521 611,208 -20.0
g A 11,985,329 7,033,066 19,018,394 19,870,967 852,573 -4.3
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S100Cs 5= T4 11,506,825 423,300 - 11,930,125 12,511,078 -580,953
11 E%:L/\Ol
SHOCe =57 5) 11,506,825 - - 11,506,825 12,083,584 ~576,759
5111
(-4 g+=) 682,064 632,064 730,192 -48 128
5112
(Srz=el7) 10,824,761 10,824,761 11,353,392 -528 631
1207 254
S RCE Y 423,300 - 423,300 427,494 ~4,194
5121
(F7154%5) 423,300 423,300 427,494 -4,194
2 ;‘qjoh;r_;7 H 2= 0]
5200 HER7IFF ) 1 4,208,397 1 4,208,397 4,243,571 -35,174
21 Z(jo]:l_/\ol
210N 9) 1 110,002 1 110,002 80,002 30,000
5211(73 ]
Ad=) 1 1 1 0
5212(H A F-F
AR F 110,000 110,000 80,000 30,000
5215(5H 317
A= 1 1 1 0
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5222
(RA715=) 58,801 58,801 23,030 35,771
5223
(A7) 5-3) 1 1 1 0
5230(Z 31 H Z59)
(e =59) 3,994,592 - 3,994,592 4,095,558 -100,966
5231( a5 5-)
3,802,476 3,802,476 3,772,167 30,309
5232
(71 e} =4 ¢) 192,115 192,115 323,390 -131,275
5233
(A G AFA] A ) 1 1 1 0
5240(Aker e et
u1sL€77]cﬂﬁ;101:1) 45,000 - 45,000 44,979 21
= = AL HA \vT|
5241 (ke H ot
A=) 45,000 45,000 44,979 21
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2t &t = A 3 A HA =0f| & ZEFF0 °T e
-9 B 2= 0]
SR Y 665,359 - 665,359 657,680 7,679
QI A Z222 7 2=0)
5310(PA =) ) _ ) ) 0
5311
(At M) 1 1 1 0
5312
+88) 1 1 1 0
5320(Z AL & 2529
(SrrgsTe) 665,356 665,356 657,677 7,679
5321
(3= 4,500 4,500 4,180 320
5322(th o] &
EIPAR R ] 660,856 660,856 653,497 7,359
7 R 2= 0]
5330(71 Bkl S o= ) 1 - 1 1 0
5332
(dE9) 1 1 1 0
5400( L5 9] 5]
(35455 3) 57,500 258,000 - 315,500 327,518 -12,018
5410
R 57,000 248,000 - 305,000 318,562 ~13,562
(el =l A=)
5411
(el ol 2h) 57,000 248,000 305,000 318,562 ~13,562
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5420(7) E} 1L 5 2] 5]
(71 b5 9] 5=9)) 500 10,000 10,500 8,956 1,544
5421
() 500 10,000 10,500 8,956 1,544
1200(F-2} 2} 7] EF AR A=)
(FARep7 e ARl 550 350,004 350,004 150,003 200,001
1220(F AR 9)) _ - - 0
1221(F A7}
Az - _ _ 0
71 EFRFAFS)
124071 et A=) 1 1 - 1
1241(A 214 3}
HEFES) - - - 0
1242( ) =}
B3F3]4) 1 1 - 1
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1253(YFHE
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2t ) =2 3| A 3 A HA 2 0f| At X EFA0f Lt =
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AE71790%) 350,000 350,000 150,000 200,000
1266(% ¢
71ER7 1= 91E) 1 1 1 0
1 1 A A A ZF 4= 9]
3008 AR 2 90) 1,003 5 1,008 9 999
1310(538 11 A 2}Akn) 2+ 4= <
S10(H+ 3 g ARakvl 255 1,003 5 1,008 9 999
1314(71 A 7] -
ufj ZH o)) 1,000 1 1,001 2 999
1315(H 718 =&
fj Zk o)) 1 1 2 2 0
1316 (A} 2-1t
Tl Zt ) 1 1 2 2 0
1317
A Zh)) 1 1 2 2 0
1318
(fr=mzd) 1 1 1 0
29 A= o) s A
00(1785-AH 94 =) 1 1 5,000 -4,999
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Z=0] 1 5,000 -4,999

H AR 7] o] B A7 420,000 1,128,000 1,548,000 1,976,108 -428,108

A=Y FA 11,985,329 7,033,066 19,018,394 19,870,967 -852,573







[l

el

W W H| 2| AH[X] ]

—L
=

o]

A A

(2016.3.1 ~ 2017. 2. 28)
2. A% RGP
n s sg32 HISE2 Lj 5 42 20164 20154 e
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4100
N 6,694,626 288,268 6,982,894 7,081,192 -98,298
(X )
4110
N 4,790,625 282,267 5,072,892 5,166,811 -93,919
(DY)
4111
(Y F) 2,843,852 2,843,852 3,007,475 -163,623
4113
(P F4F) 784,443 23,320 807,763 792,586 15,177
4114(L Y HA
e 316,450 110,000 426,450 375,728 50,722
4115
(A 79 5) 630,000 148,947 778,947 777,022 1,925
4116
(B %) 3,000 3,000 200 2,800
4117
(Y E =) 12,000 12,000 19,840 ~7,840
4118
(Z3elAn]) 200, 880 200,880 193,960 6,920
4120 1 ONA NN1 2 NN1

1T 01N NN9
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(ZJ'.%]_E_-{F-) T, 0T, 00T \vanvivey T, J10, 00 T,J11T,00~T T,0019
4121
(A 9]3a]) 825,464 825 464 823,860 1,604
4123
(A7) 312,452 312,452 318,271 -5,819
4124( A 9HA
R 205,200 205, 200 226,751 -21,551
4125(4 A1 3
o1 7 n]) 416,985 6,000 422 985 410,640 12,345
4126
(= <) 111,000 - 111,000 104,701 6,299
4129
(A5 A=) 32,900 1 32,901 30,158 2,743
4200
2,141,955 872,397 3,014,352 2,995,837 18,515
(] 2-H))
4210
. 679,748 264,950 944,698 856,289 88,409
(A e]n])
211(AF =
#Z2]1)) 176,500 25,000 201,500 156,500 45,000
4212
(a1 A H)) 164,876 14,288 179,164 143,050 36,114
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2 8t 2 3|4 3l A HA 20| A x| ZFA0f Lt °eT=
4213
(272 n]) 2,000 1 2,001 2.041 -40
4214
(BHETA A ) 1,000 1,000 1 999
4215
(AAdL89n)) 168,000 210,480 378,480 370,820 7,660
4216
(R3dg) 13,800 1 13,801 13,827 -26
4217
(]2 ==) 74,572 7,680 82,252 82,050 202
4219(7]E}A] A
#e]n)) 80,000 6,500 86,500 88,000 -1,500
4220 754,550 82,842 - 837,392 817,990 19,402
(k7 ggn))
4221
(v AL EH]) 34,500 1,000 35,500 16,751 18,749
4222
(ZF=FH-AH]) 7,500 1 7,501 7,001 500
4223
(AXEH]) 89,200 10,000 99,200 104,408 -5,208
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2t st =2 3|A 3 A HA =0 &t x| ZFA0 4 °T=
4224
(A =3n]) 15,000 1,800 16,800 11,500 5,300
4225
(k) 20,000 50,500 70,500 77,578 ~7,078
4226
(A7FE=) 465,000 1 465,001 458,001 7,000
4227
(EA11]) 79,104 7,540 86,644 67,169 19,475
4228
(A=) 39,900 3,700 43,600 47,127 -3,527
4229
(AFFTFR) 4,346 8,300 12,646 28,455 -15,809
4230 707,657 524,605 - 1,232,262 1,321,558 -89,296
(=%9HD
4231
(=) 79,200 2,350 81,550 81,300 250
4232
(WS-F M) 66,800 7,000 73,800 60,544 13,256
4233
(Lurgodn)) 73,756 28,775 102,531 207,900

-105,369
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s st = 3|4 3l A HA 20| A x| ZFA0f Lt °eT=
4234
(FHF-==%141]) 24,001 1 24,002 40,474 -16,472
4235
(ZHH) 367,400 426,178 793,578 709,551 84,027
4236
(3 9H)) 3,500 300 3,800 1,900 1,900
4237
(g AFH]) 44,500 1 44,501 37,803 6,698
4239
(7]E}&-<dn)) 48,500 60,000 108,500 182,086 -73,586
o] .
%300(‘*:F 2,258,442 4,086,392 - 6,344,834 6,485,917 -141,083
skA) 7 H) )
4310 63,000 - - 63,000 129,958 -66,958
(A5-4])
4311
(A1) 48,000 48,000 115,458 -67,458
4312
(A n)) 15,000 15,000 14,500 500
4320
. 2,195,442 4,077,391 - 6,272,833 6,346,958 | - 74,125
(A7 H])
4321
() Ae) 4,056,391 4,056,391 3,963,223 93,168
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2t &t = 3|A 3 A H|A 20| A X ZFHoj At °eT=
4322
(W gsha) 1,646,921 1,646,921 1,701,237 -54,316
4323
(A8 2 Z0)) 286,000 2,900 288,900 325,047 -36,147
4325
(A= n)) 262,520 7,600 270,120 346,950 ~76,830
4329( 7] e}
A A1) 1 10,500 10,501 10,501 0
4330
9,001 - 9,001 9,001 0
(YA FZH])
4331
(LA ) 1 1 1 0
4332
(SIA] A H]) 9,000 9,000 9,000 0
44
02) 50,000 19,000 69,000 87,500 18,500
(52 H]-8-)
4220(7
s)( 15t 50,000 19,000 - 69,000 87,500 ~18,500
15 9H]§)
4421
(Frz=2) 50,000 19,000 69,000 87,500 ~18,500
4500 R ;
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4515(5-H 3] A
AEa 1 1 1 0
45191 55+
SAAES) 1 - - 0
4600 102,000 60,000 162,000 163,999 -1,999
(of| B n])
4610 102,000 60,000 162,000 163,999 -1,999
(ofBjH])
4611
CEIED 102,000 60,000 162,000 163,999 -1,999
=
1200( Txtg}ﬂ 220,003 220,003 703,256 483,253
E} 2} 2HA] &)
1220 (F AL A}4F _ _ _ _
A 2 )
1221(FAH7F
Zdudd) = - - 0
A
1240(7) et 1 1 1 -
A 2 )
1241(H 2143}
HISFAF) - - - 0
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5 A= (k9] 9D
= S8 HISE3 LY 57 2 20164 20154 e
2t &t =2 2|A| 3 A H A 20j At x| ZFA0 4 °T=
HETAE) 1 1 1 0
1250(d = 2= 5 9 9 -
7= 4)
1253(YaHE
AF7154 %) 1 1 1 0
1256 (Y7 HE
71e715 4 ") 1 1 1 0
o] o
126001 <] 220,000 220,000 703,253 | - 483,253
71=244)
1263(%1 9]
AF71544) 178,000 178,000 659,396 -481,396
1266( <1 <]
71et715 4 ) 42,000 42,000 43,857 -1,857
1A X
1300(3 O_]' 717,503 359,005 1,076,508 1,132,323 | - 55,814
A P A =)
S A
1310(H °4° 717,503 359,005 1,076,508 1,132,323 | - 55,814
A a4 )
1311
(EA ] 4 H]) 1 1 1 0
1312
(A& ) 1 1 2 2 0
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2t &t = 3|A 3 A H|A 20| A X SFZA0 A °eT=
(FFH=udn]) 1 1 2 -1
1314(71 A7)+
] &1 1)) 590,300 5,000 595,300 244,000 351,300
1315(%) 7)v] =
] 21 1]) 84,000 4,000 88,000 79,406 8,594
1316(x}2k-$-uk
Jupeln]) 1 1 2 100,002 ~100,000
1317
(= Eeln]) 43,200 1 43,201 55,201 ~12,000
1319
(AA7AA) 1 350,000 350,001 653,709 -303,708
2200( 224 1 1 5,000 | - 4,999
20743 ’ ’
7
2220( 1_5} . 1 1 5,000 | - 4,999
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2221(A
H=233) 1 1 5,000 -4,999
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AaA =& F7 11,985,329 7,033,066 19,018,394 19,870,967 -852,573




